Quiz for unit 1

I. Vocabulary and structure

Directions: There are 15 incomplete sentences in this part. For each sentence there are four choices marked A, B, C and D. Choose the ONE answer that best completes the sentence. Then mark the corresponding letter on the Answer Sheet with a single line through the centre.

1. The _________ search for the lost boys proved ______ and the search party returned home at nightfall quite_________.

A. exhaustive...exhausted...exhausting B. exhaustive...exhausting...exhausted

C. exhausting...exhausted...exhaustive D. exhausted...exhaustive...exhausting

2. The problems requiring immediate solution will be given ________ at the meeting.

A. priority B. urgency C. superiority D. seniority

3. As a defense against air — pollution damage, many plants and animals ________ a substance to absorb harmful chemicals.

A. relieve B. release C. dismiss D. discard

4. Students learning English find the news a useful ________ of language practice. To improve their listening comprehension, they listen to the news on the radio and watch it on television.

A. source B. origin C. resource D. cause

5. There is nothing of _________ importance in today’s newspaper.

A. particular B. partial C. peculiar D. specific

6. Many a boy and many a girl _________watching TV.

A. likes B. like C. like to D. likes to

7. He slipped and broke his leg. __________, he will have to stay in bed for two weeks.

A. At a result B. In a result C. As a result D. For a result

8. “Do you still remember the day we first met at the party?”
“Sure. It is a day ________ I will never forget.”
A. when B. what C. on which D. which

9. _________entering the classroom, she found her students all talking and laughing loudly.

A. To B. As C. On D. For

10. ________ in the office had a mistake, and the firm regretted causing the customer inconvenience.

A. Some B. Anyone C. One D. Someone

11. The European Union countries were once worried that they would not have _______ supplies of petroleum.

A. proficient B. efficient C. potential D. sufficient

12. I suffered from mental _______ because of stress from my job.

A. damage B relief C. release D. fatigue

13. ___________ energy under the earth must be released in one form or another, for example, an earthquake.

A. Gathered B. Accumulated C. Collected D. Assembled

14. Many scientists remain _______ about the value of this research program.

A. sceptical B. stationary C. spacious D. specific

15. Negotiations about fixing the ________ between the two countries are still going on.

A. border B. boundary C. edge D. frontier

16. The policeman went into action __________ they heard the alarm.

A. promptly B. presently C. quickly D. directly

17. The black clouds _______ rain.

A. indicated B. hinted C. suggested D. meant

18. I am easily hurt because my feelings are very _________.

A. sensible B. sensational C. sensitive D. sentimental

19. She said she liked travelling by train, but after seven hours standing in the corridor, she changed her __________.

A. sound B. voice C. tone D. tune

20. The statistical figures in that report are not . You should not refer to them.

A. rigid B. delicate C. fixed D. accurate

II. Fill in the following blanks with correct adverbs or prepositions. (10 Points)

1. A complete investigation into the causes of the accident should lead to improved standards and should result________ new operating procedures.

2. Monica was urgent _________ me for further particulars.

3. Please reply ________ your earliest convenience.

4. They were isolated _____________ the outside world for the heavy snow.

5. This project has priority ___________ all others.

III. Reading comprehension

PASSAGE 1

Where do pesticides (杀虫剂) fit into the picture of environmental disease? We have seen that they now pollute soil, water, and food, that they have the power to make our streams fishless and our gardens and woodlands silent and birdless. Man, however much he may like to pretend the contrary, is part of nature. Can he escape a pollution that is now so thoroughly distributed throughout our world?

We know that even single exposure to these chemicals, if the amount is large enough, can cause extremely severe poisoning. But this is not the major problem. The sudden illness or death of farmers, farm workers, and others exposed to sufficient quantities of pesticides are very sad and should not occur. For the population as whole, we must be more concerned with the delayed effects of absorbing small amounts of the pesticides that invisibly pollute our world.

Responsible public health officials have pointed out that the biological effects of chemicals are cumulative (积累) over long periods of time, and that the danger to the individual may depend on the sum of the exposures received throughout his lifetime. For these very reasons the danger is easily ignored. It is human nature to shake off what may seem to us a threat of future disaster.“ Men are naturally most impressed by diseases which have obvious signs,” says a wise physician, Dr.Rene Dubos, “yet some of their worst enemies slowly approach them unnoticed.”
1. Which of the following is closet in meaning to the sentence “Man, ...is part of nature.”(Lines 3 — 4, Para.1)?

A. Man appear indifferent to what happens in nature.
B. Man acts as if he does not belong to nature.

C. Man can avoid the effects of environmental pollution.

D. Man can escape his responsibilities for environmental protection.

2. What is the author’s attitude towards the environmental effects of pesticides?

A. Pessimistic. B. Indifferent. C. Defensive. D. Concerned.

3. In the author’s view, the sudden death caused by exposure to large amounts of pesticides _____________.

A. is not the worst of the negative consequences resulting from the use of pesticides

B. now occurs most frequently among all accidental deaths

C. has sharply increased so as to become the center of public attention

D. is unavoidable because people can’t do without pesticides in farming

4. People tend to ignore the delayed effects of exposure to chemicals because ________.

A. limited exposure to them does little harm to people’s health

B. the present is more important for them than the future

C. the danger does not become apparent immediately

D. humans are capable of withstanding small amounts of poisoning

5. It can be concluded from Dr. Dubos’ remarks that __________.

A. people find invisible diseases difficult to deal with

B. attacks by hidden enemies tend to be fatal

C. diseases with obvious sings are easy to cure

D. people tend to overlook hidden dangers caused by pesticides

PASSAGE 2

As soon as it was revealed that a reporter for Progressive magazine had discovered how to make a hydrogen bomb, a group of firearm ( 火器) fans formed the National Hydrogen Bomb Association, and they are now lobbying against any legislation to stop Americans from owning one.

“The Constitution,” said the association’s spokesman“, gives everyone the right to own arms. It doesn’t spell out what kind of arms. But since anyone can now make a hydrogen bomb, the public should be able to buy it to protect themselves.”
“Don’t you think it’s dangerous to have one in the house, particularly where there are children around?”
“The National Hydrogen Bomb Association hopes to educate people in the safe handling of this type of weapon. We are instructing owners to keep the bomb in a locked cabinet and the fuse ( 导火索) separately in a drawer.”
“Some people consider the hydrogen bomb a very fatal weapon which could kill somebody.”
The spokesman said, “Hydrogen bombs don’t kill people—people kill people. The bomb is for self-protection and it also has a deterrent effect. If somebody knows you have a nuclear weapon in your house, they’re going to think twice about breaking in.”
“But those who want to ban the bomb for American citizens claim that if you have one locked in the cabinet, with the fuse in a drawer, you would never be able to assemble it in time to stop an intruder ( 侵入者).”
“Another argument against allowing people to own a bomb is that at the moment it is very expensive to build one. So what your association is backing is a program which would allow the middle and upper classes to acquire a bomb while poor people will be left defenseless with just handguns.”
6. According to the passage, some people started a national association so as to __________.

A. block any legislation to ban the private possession of the bombB. coordinate the mass production of the destructive weapon

C. instruct people how to keep the bomb safe at home

D. promote the large-scale sale of this newly invented weapon

7. Some people oppose the ownership of H-bombs by individuals on the grounds that __________.

A. the size of the bomb makes it difficult to keep in a drawer

B. most people don’t know how to handle the weapon

C. people’s lives will be threatened by the weapon

D. they may fall into the hands of criminals

8. By saying that the bomb also has a deterrent effect the spokesman means that it __________.

A. will frighten away any possible intruders

B. can show the special status of its owners

C. will threaten the safety of the owners as well

D. can kill those entering others’ houses by force

9. According to the passage, opponents of the private ownership of H-bombs are very much worried that __________.

A. the influence of the association is too powerful for the less privileged to overcome

B. poorly-educated Americans will find it difficult to make use of the weapon

C. the wide use of the weapon will push up living expenses tremendously

D. the cost of the weapon will put citizens on an unequal basis

10. From the tone of the passage we know that the author is __________.

A. doubtful about the necessity of keeping H-bombs at home for safety

B. unhappy with those who vote against the ownership of H-bombs

C. not serious about the private ownership of H-bombs

D. concerned about the spread of nuclear weapons
Key to Quiz for Unit 1

I. 1. B 题意为：各处寻找丢失的孩子确实很累人，寻找的人晚间回家时都筋疲力尽了。
exhaustive 彻底的，详尽的：an exhaustive stury 彻底的研究。exhausting 令人筋疲力尽的( 主动意义)：an exhausting journey 令人筋疲力尽的旅行。exhausted ( 感到) 筋疲力尽的( 被动意义)：I was exhausted after the journey. 旅行回来我感到筋疲力尽了。
2. A 题意为：会上将优先考虑等待解决的问题。priority 意为“优先( 权)，优先考虑”，give priority to 表示“优先考虑……”。urgency 意为“紧急，迫切”，如：a case of urgency 紧急情况。superiority 意为“优势，优越性”。seniority 意为“年长，资深”。
3. B题意为：作为对空气污染危害的一种防范措施，许多动植物都释放出一种能够吸收有害化学品的物质。relieve 意为“解除( 痛苦，忧愁等)”；dismiss 意为“让……离开，开除，解散；”discard 意为“抛弃”。
4. A题意为：学习英语的学生发现，新闻是有用的语言练习资料的来源。为了提高听力，他们从广播中听新闻，从电视上看新闻。source: place from which sth. comes“来源，( 河水) 源头”。origin; starting point“起源，由来”，如：the origin of the custom 习俗的起源；origin 指一个东西的“来源，出处”，是一次性的，不可像source 那样源源不断地流出。resource 常用复数，指一个国家或一个人所拥有的资源或财力，与源泉无关：natural resources 自然资源。cause 原因。
5. A 题意为：今天的报纸上可没什么特别的。particular“特别的，详细的”，指众多事物中的个别。peculiar指“与众不同的，独特的”，强调与同类其他物品相异的特性，如：peculiar style 独特的风格。specific具体的，特定的。
6. A 题意为：许多男孩女孩都喜欢看电视。many a 加上单数可数名词作主语是考查主谓一致的特殊形式，它表示单数形式，复数意义，其后面的谓语动词要用单数。而其由and 连接的并列结构后面的谓语动词也要用单数。
7. C 题意为：他摔伤了腿，因此他不得不卧床两周。as a result 因此，所以，表示结果，是固定用法；其他三个选项都是result 的错误用法。
8. D 题意为：“你还记得我们在晚会上初次见面的那一天吗?”“当然记得。那一天我永远也忘不了。”这句话考查关系代词与关系副词的用法。关系副词在从句中只能作状语，所以when 不对；what 相当于名词加上that，前面不能有名词，所以也不对；从句中的动词是及物动词，需要关系代词直接作宾语，所以on which 不对；只有which 符合条件。
9. C 题意为：一进教室，她就发现她的学生们都在大声地说笑。这句话考查习惯用法：to 放在句首要跟动词原形，表示目的；as 引_________导句子或动名词形式，表示原因或身份；for 引导句子或动名词形式，表示原因；只有on 加上动名词形式表示“一……就……”，符合句意。
10. D题意为：办公室里有人出了差错，所以公司对给顾客造成的不便表示遗憾。some 表示“任何人”；one表示“一个人或人们”均不符合题意。故只有someone“某人”才符合题意。
11. D 题意为：欧盟国家曾担心无法获得足够的石油供给。本题为词义辨析题。sufficient 足够的，充分的，修饰“石油供给”，符合题意。proficient 熟练的，精通的；efficient 有效率的；potential 潜在的，可能的，均不宜修饰supplies。
12. D 题意为：由于来自工作上的压力，我遭受了精神上疲劳之苦。此题为词义辨析。damage 损害，伤害；relief 释放；release 减轻( 痛苦等)，( 债务等的) 免除，救济；fatigue 疲乏，疲劳。
13. B 题意为：地表下累积的能量必定会以这种或那种形式释放出来，譬如地震。accumulate 强调一点一点的连续积累，从而积累成堆，符合题意。gather 聚集，集合，收集，采集，逐渐增加，猜想；accumulate堆积，积聚，累积；collect 收集，采集，接，收，领取；assemble 集合，聚集；召集；装配。assemble 指人或组织为共同目的聚集在一起统一行动，或者将物聚集成一个整体，即“安装，装配”，如聚会，调集兵力、组装等；gather 指把分散的人或物集中，也可以抽象地用于勇气、力量的聚集。显然，地表下的能量是一点一点的积聚，所以accumulate 最恰当。
14. A 题意为：许多科学家对此项研究的价值仍持怀疑态度。形容词的辨析。sceptical 意为“表示怀疑的”，符合题意。stationary“固定的，静止不动的”；spacious“宽广的，宽敞的”；specific“特定的，特有的；明确的，具体的”。
15. B 题意为：两国间关于边界划分的谈判仍在进行中。boundary 着重指自然形成的天然“边界线”，多指地图上有明确标志的国与国之间的正式划定的领土分界线，通过谈判，签订条约可以改变boundary。border原意是“较宽的边缘”，多指两国或两地之间的分界处附近的边缘地区，即“边境地区”。edge 指很窄的边缘，如刀刃或沿边的一小部分地区。
16. D题意为：警察一听到警报马上就行动起来。从句子结构看，这是一个主从复合句，they heard the alarm是时间状语，所选择的此必须具有连接词的功能；directly 作连词的意思是“一……就”，强调两个动作是连续发生的，用在这里最为合适。
17. A 题意为：那些乌云预示着将要下雨。indicate 此处意为“通过某种迹象预示，表明”hint 意为“按时，提示”，指通过微妙、含蓄的方式进行的揭示；suggest指没有直截了当说出，但含有某种意思的“暗示”，接近imply；mean 指“意思是……，意味着……”。
18. C 题意为：我很脆弱，因为我很敏感。sensitive (to/about) ( 对……) 敏感。sensible 理智的，明智的；sensational令人吃惊的，轰动性的，sentimental 多愁善感的。
19. D题意为：她说喜欢乘火车旅行，可是在走廊上站了七个小时以后，她的口气就变了。需注意区别tune和tone 的引申义：tune 的基本意思是“曲调”，引申为“态度，看法”等： change one’s tune 改变了态度或看法；tone 是“声音，声调”，引申为“口气，语气”等：I don’t like your talking to me in a decisive tone. 我不喜欢你用一种断然的语气跟我说话。
20. D题意为：那个报告中的统计数据不准确，你不应该参考它们。rigid ( 严格的，死板的；刚硬的，僵硬的)；delicate( 易碎的，脆弱的；微妙的，棘手的；娇弱的，纤细的，精美的，雅致的)；fixed ( 固定的；规定的；不变的)；accurate( 正确无误的；准确的，精确的)。
II. 1. in。对事故原因展开全面调查可以提高标准和采用新的操作程序。【解析】result 表示“导致，归于”，要和in 连用。
2. with。莫妮卡急切地向我催问细节。【解析】urgent 强求的，催促的：be urgent with sb. for sth. 硬要某人做某事。
3. at。请尽早回信。【解析】根据题意，这里应是“如果你方面的话”，请尽早回信，因而应用介词at。
4. from。由于大雪，他们于外界隔绝了。【解析】表示“与……隔绝”，应用介词from。
5. over。这个项目应优先于其他所有项目。。【解析】表示“优越，凌驾”的词，与介词over 搭配。
III.

Passage One

1. B 2. D 3. A 4. C 5. D

Passage Two

6. A 7. C 8. A 9. D 10. D__
